RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Acceptance of Funds from the Administration for Native Americans - Land Use Planning Project)

RESOLUTION NO. 2000-044

1	WHEKEAS,	me Tonono O'odnam Nation is dedicated to the development of improved long
2		range planning for land use and development of the Nation's social and economic
3		resources for the betterment of the Nation's people and their future; and
4	WHEREAS,	the Land Use Planning project is the best first step in the process of improving the
5		Nation's options for a well planned future; and
6	WHEREAS,	this opportunity has been brought before the Districts of the Nation for their
7		information and approval; and
8	WHEREAS,	the Districts of the Nation have requested by resolution that the Nation authorize
9		the Administration for Native Americans grant proposal for Land Use Planning;
10		and
11	WHEREAS,	the Administration for Native Americans has awarded \$131,901.00 in grant funds
12		for the Nation's Land Use Planning project in their 1999 funding cycle; and
13	WHEREAS,	the Nation, through it's people, it's Chairman and it's Legislative Council
14		has mandated a need for land use planning in the people's consensus on and the
15		Legislative Council's acceptance and adoption of the Chairman's Administrative
16		Plan under Resolution No. 97-082, with regard to land use planning; and
17	WHEREAS,	the Land Use Planning project will be a one year project that is eligible to extend to
18		a two year project; and
19	WHEREAS,	$the \ Nation's \ Executive \ Branch, through \ the \ Planning \ Department \ shall \ implement$
20		this grant project and is authorized to expend these ANA grant funds on behalf of
21		the members of the Tohono O'odham Nation.
22	NOW, THER	EFORE, BE IT RESOLVED that the Legislative Council accepts the grant award of
23		\$131,901.00 from Administration for Native Americans (ANA) for a SEDS grant to
24		assist the Tohono O'odham Nation in the Land Use Planning project, which will be
25		a one to two year project implemented by the Executive Branch through the
26		Planning Department.
	day of FEBR	ng Resolution was passed by the Tohono O'odham Legislative Council on the <u>08TH.</u> <u>UARY, 2000</u> at a meeting at which a quorum was present with a vote of <u>2,165.5</u> FOR; <u>;-0-</u> NOT VOTING; and <u>[06]</u> ABSENT, pursuant to the powers vested in the Council by

Tohono O'Odham Nation on	f the Constitution of the Tohono O'Odham Nation, adopted I January 18, 1986; and approved by the Acting Deputy As Operations) on March 6, 1986, pursuant to Section 16 of the
	TOHONO O'ODHAM LEGISLATIVE COUNCIL
	Dennis Ramon, Legislative Chairman
	_// day of <u>Hely</u> , 20 <u>od</u>
ATTEST:	/
Julian Jan	
ulianna Saraficio, Acting Le	
08 day of Illina	<u></u>
aid Resolution was submit	tted for approval to the office of the Chairman of the T
Odham Nation on the	/ day of <i>Sepan</i> , 20 00 at 9:30 o
Ounding state on the	
ecome effective upon his app	
ecome effective upon his app	tted for approval to the office of the Chairman of the T day of <u>Achar</u> , 20 <u>Co</u> at <u>9:30</u> o provisions of Section 5 of Article VII of the Constitution as proval or upon his failure to either approve or disapprove it TOHONO O'ODHAM LEGISLATIVE COUNCIL
ecome effective upon his app	proval or upon his failure to either approve or disapprove it
ecome effective upon his app	proval or upon his failure to either approve or disapprove it TOHONO O'ODHAM LEGISLATIVE COUNCIL
ecome effective upon his app	proval or upon his failure to either approve or disapprove it
ecome effective upon his app	proval or upon his failure to either approve or disapprove it TOHONO O'ODHAM LEGISLATIVE COUNCIL
ecome effective upon his app	TOHONO O'ODHAM LEGISLATIVE COUNCIL Dennis Ramon, Legislative Chairman
ecome effective upon his app	TOHONO O'ODHAM LEGISLATIVE COUNCIL Dennis Ramon, Legislative Chairman on the Handay of February, 20 00
ecome effective upon his apples hours of submittal.	TOHONO O'ODHAM LEGISLATIVE COUNCIL Dennis Ramon, Legislative Chairman
ecome effective upon his apples hours of submittal. APPROVED	TOHONO O'ODHAM LEGISLATIVE COUNCIL Dennis Ramon, Legislative Chairman on the Handay of February, 20 00

	Project) Page 3 of 3
•	Lage your
,	Returned to the Legislative Secretary on theday of
	Tebruary , 20 00 , at 4:21 o'clock,M.
-	
	Variagia -
J	Julianna Saraficio, Acting Legislative Secretary

ACTION: ACCEPTANCE OF FUNDS FROM THE ADMINISTRATION FOR NATIVE AMERICANS - LAND USE PLANNING

PROJECT

MOVED: COUNCILMAN KENNETH WILLIAMS SECOND: COUNCILWOMAN FRANCES MIGUEL

DATE: FEBRUARY 08, 2000

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	X			
	2. RITA MARTINEZ (Nicholas Jose)	85.9	X			X
SELLS 372.7	1. DENNIS E. JOSE	186.35	X			
	2. EVELYN JUAN ()	186.35	X			
SCHUK TOAK 133,4	1. MARY FLORES	66.7	X			X
155,4	2. AMBROSE ENCINAS	66.7	X			
SAN XAVIER	1. TONY BURRELL	82.95	X			X
165.9	2. DENNIS RAMON ()	82.95	X			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	X			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			
GU ACHI	CAMILLUS LOPEZ (Louis Johnson)	104.8	x			
209.6	2. ALEX J. RAMON	104.8	X			x
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	X			
156.8	2. JOHNSON JOSE	78.4	X			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	X			X
128.1	2. GLORIA RAMIREZ ()	64.05	X			
GU VO	1. FERN SALCIDO	80.0	X			
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0	X			
HICKIWAN	1. ALEX JOSE (Shirley Santos)	79.05	X			X
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	X			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	X			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			
Т	OTAL	2,165.5	2,165.5	-0-	-0-	[06]

^{**}PASSED VOTES